(a+b) +c=at (bt ¢)

Co4yeTaTenbHoOe CBOUCTBO
CINOXEeHUS

a+b=Db+a

[lepemecTUTENBHOE CBOUCTBO
CJTI0XXEeHUS




YyebHuk c. 25 N2 2 (1 n 2 ctonbukun)
(397+54)+3=(397+3) +54 = 454

14+(86+478)=(14+86) +478= 578
32+21+79+168=(32+168)+(21+79)= 200+100 =300
45+399+255+1=(45+255)+(399+1)= 300+400= 700



Y4yebHuk c. 25 Ne 5
3annucbiBaemM B ABa CTornoduka ¢

NoKas3aTernbCTBOM
50M =50CM 80CM < 8Mm
50cM = 50c™m 80cM < 800 cwm
/M > /70M 60M > 6aM
70QM >70M 600aM > 6OM

TpeTtnn ctondbuk
CaMOCTOdATEeNbHO



